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College Name:

|College Code:

Load Calculator of UG Program

1) Load Calculation of UG Program in First Shift

gi(\)/izifon Chem Phy Maths E&TC Electrical Computer Civil Information Technology Mechanical
No of No of
No of No of No of No of
Sem! |SemlIl [Sem| [SemIl [Sem!| |Sem Il AOAO4 Sem | Sem I .O4OA Sem!| [Sem I .O4OA Sem | |Sem Il [Divisio [Sem | |Sem Il |Divisio |Sem | [Sem II AOAO4 Sem| |Sem Il
Division Division Division Division
n n
F.E. 8 40 40 40 40 56 56 36 36 36 36 56 56 72 72 0 0 72 72
ARE IS EIEN - EIEE EEEE S B  ENE
T.E. 2 104 108 1 50 50 1 48 48 0 0 0 1 48 48 2 108 108
B.E. 2 122 150 1 122 72 1 52 72 0 0 0 1 55 72 2 124 140
Project
Total 40 40 40 40 63 63 362 380 248 208 210 225 72 72 153 165 398 428
N1=no of Division FE _ N3=no of Div in TE N4=no of Div in BE computation of formula
No of . . . .
Division Chem Phy Maths Instrumentation Printing Polymer Petrolum Petrochemical Industrial
No of No of
Sem! |SemlIl [Sem| [SemIl [Sem!| |Sem Il N?Pf Sem | Sem I N.040Af Sem!| [Sem I N.040Af Sem | |Sem Il [Divisio [Sem| |Sem Il |Divisio |Sem | [Sem II N?Pf Sem| |Sem I
Division Division Division n n Division
F.E. 0 0 0 0 0 0 0 0 0 0 0 0
0 I N RO R N R
T.E. 0 0 0 1 48 48 0 0 0 0 0 0 0 0 0 0 0 0
B.E. 0 0 0 1 61 72 0 0 0 0 0 0 0 0 0 0 0
Project
Total 0 0 148 174 0 0 0 0 0 0 0 0
No of . . . .
o Chem Phy Maths Production Chemical Biotechnology Automobile
Division
No of No of
semi [semil |semi [semil |semi [semi |N°° Jsemi [semn |N°° lsemi |semn [N°° |sem1 |semn |pivisio [semt |sem i |pivisio [sem1 [semi [V°OF |sem i [sem
Division Division Division n n Division
F.E. 0 0 0 0 0 0 0 0
B [ o [ o | o (el o [ o B o [ o (B ]
T.E. 0 0 0 0 0 0 0 0 0 0 0 0
B.E. 0 0 0 0 0 0 0 0 0 0 0 0
Project
Total 0 0 0 0 0 0 0 0




1. Work Load at First Year:(LF)

a) LF1: Faculty Required Semister I:

Physics: N1*3.7*0.1 2.96
Chemistry: N1*3.7*0.1 2.96
Maths: N1*3.7*0.14 4.144
Electrical: N1*3.7*0.09 2.664
Electronics: N1*3.7*0.0.09 2.664
Mechanical: N1*3.7*0.18 5.328
Computer: N1*3.7*0.14 4,144
Civil: N1*3.7*0.18 5.328
a) LF2: Faculty Required Semister I
Physics: N1*3.7*0.1 2.96
Chemistry: N1*3.7%0.1 2.96
Maths: N1*3.7*0.1 4,144
Electrical: N1*3.7*0.09 2.664
Electronics: N1*3.7*0.0.09 2.664
Mechanical: N1*3.7*%0.18 5.328
Computer: N1*3.7*0.14 4.144
Civil: N1*3.7*%0.18 5.328

LF1: Load Calculation of First Year Semister 1:

Physics: N1*10/2 40
Chemistry: N1*10/2 40
Maths: N1*7 56
Electrical: N1*9/2 36
Electronics: N1*9/2 36
Mechanical: N1*9 72
Computer: N1*7 56 FPLI
Civil: N1*9 72
LF2: Load Calculation of First Year Semister II:
Physics: N1*5 40
Chemistry: N1*5 40
Maths: N1*7 56
Electrical: N1*9/2 36
Electronics: N1*9/2 36
Mechanical: N1*9 72
Computer: N1*7 56 FPLII
Civil: N1*9 72

For each branch the work load is calculated as follows

Work Load For Branch Computer:

Work Load at Second Year For Branch Computer: (LS)

Work Load at Third Year For Branch Computer: (LT)

Work Load at Final Year For Branch Computer: (LB)

a) LS 1: Toatal Load of Second Year Semester I:

LS1= Total load of SE= N2*54=

b) LS 2: Toatal Load of Second Year Semester II:

a) LT 1: Toatal Load as per structure=

b) LT 2: Toatal Load as per structure=

a) LB 1: Toatal Load as per structure=
LB1=N4*(42+10)=
b) LB 2: Toatal Load as per structure=

LS2= Total load of SE=N2*48= LT2=N3*48= LB2=N4*(42+30)=
L1(comp)= Load of Computer Engineering Dept: Sem | = LF1(FPL 1)+LS1+LT1+LB1 = 210 Load of Computer Engg Department = Max{ L1, L2}
L2(comp)= Load of Computer Engineering Dept: Sem I = LF2(FPL I1)+LS2+LT2+LB2 = 225 Load of Computer Engg Department = E




Work Load For Branch E & TC:

Work Load at Final Year For Branch E&TC: (LB)

Work Load at Second Year For Branch E&TC: (LS)

Work Load at Third Year For Branch E&TC: (LT)

a) LT 1: Toatal Load as per structure=

a) LB 1: Toatal Load as per structure=
LB1=N4*(51+10)=

a) LS 1: Toatal Load of Second Year Semester I:
LS1=Total load of SE= N2*50= LT1=N3*52=
b) LS 2: Toatal Load of Second Year Semester II: b) LT 2: Toatal Load as per structure= b) LB 2: Toatal Load as per structure=
LS2= Total load of SE=N2*43= LT2=N3*54= LB2=N4*(45+30)=
L1(E&TC )= Load of E&TC Engineering Dept: Sem | = LF1(Electronics)+LS1+LT1+LB1 = 362 Load of E&TC Engg Department = Max{ L1, L2}
L2(E&TC )= Load of E&TC Engineering Dept: Sem | I= LF2(Electronics)+LS2+LT2+LB2 = 380 Load of E&TC Engg Department =

Work Load For Branch Electrical:

Work Load at Final Year For Branch Electrical: (LB)

Work Load at Third Year For Branch Electrical: (LT)

a) LB 1: Toatal Load as per structure=

Work Load at Second Year For Branch Electrical: (LS)

a) LS 1: Toatal Load of Second Year Semester I:
LS1= Total load of SE= N2*40=

a) LT 1: Toatal Load as per structure=

b) LT 2: Toatal Load as per structure=

LT1=N3*50=

LB1=N4*(46+10)=

b) LB 2: Toatal Load as per structure=
LB2=N4*(42+30)=

b) LS 2: Toatal Load of Second Year Semester II:
LS2= Total load of SE=N2*50= LT2=N3*50=
L1(Electrical )= Load of Electrical Engg Dept: Sem I = LF1(Electrical)+LS1+LT1+LB1 = 182 Load of Electircal Engg Department = Max{ L1, L2}
L2(Electrical )= Load of Electrical Engg Dept: Sem Il = LF2(Electrical)+LS2+LT2+LB2 = 208 Load of Electrical Engg Department =

Work Load For Branch IT:

Work Load at Final Year For Branch IT: (LB)

Work Load at Third Year For Branch IT: (LT)

Work Load at Second Year For Branch ITI: (LS)

a) LS 1: Toatal Load of Second Year Semester I:
LS1= Total load of SE= N2*50=

a) LT 1: Toatal Load as per structure=

b) LT 2: Toatal Load as per structure=

a) LB 1: Toatal Load as per structure=
LB1=N4*(45+10)=

b) LB 2: Toatal Load as per structure=
LB2=N4*(42+30)=

b) LS 2: Toatal Load of Second Year Semester II:
LS2= Total load of SE=N2*45= LT2=N3*48=
L1(IT )= Load of IT Engg Dept: Sem | = LF1(Electrical)+LS1+LT1+LB1 = 153 Load of IT Engg Department = Max{ L1, L2}
L2(IT )= Load of IT Engg Dept: Sem Il = LF2(Electrical)+LS2+LT2+LB2 = 165 Load of IT Engg Department = 165
LF1 (FPL 1) and LF2 (FPL Il) for IT is zero.. Because it is considered in Computer




Work Load For Branch Civil:

Work Load at Second Year For Branch ITI: (LS)

Work Load at Third Year For Branch IT: (LT)

Work Load at Final Year For Branch IT: (LB)

a) LS 1: Toatal Load of Second Year Semester I:

a) LT 1: Toatal Load as per structure=

a) LB 1: Toatal Load as per structure=

LS1= Total load of SE= N2*45= LT1=N3*48= LB1=N4*(52+10)=
b) LS 2: Toatal Load of Second Year Semester II: b) LT 2: Toatal Load as per structure= b) LB 2: Toatal Load as per structure=
LS2= Total load of SE=N2*50= LT2=N3*56= LB2=N4*(48+30)=
L1(Civil )= Load of Civil Engg Dept: Sem | = LF1(civil)+LS1+LT1+LB1 = 72 Load of Civil Engg Department = Max{ L1, L2}
L2(Civil )= Load of Civil Engg Dept:: Sem Il = LF2(civil)+LS2+LT2+LB2 = 72 Load of Civil Engg Department =

Work Load For Branch Mechanical:

Work Load at Second Year For Branch Mech: (LS) Work Load at Third Year For Branch Mech: (LT)

Work Load at Final Year For Branch Mech: (LB)

a) LS 1: Toatal Load of Second Year Semester I: a) LT 1: Toatal Load as per structure=

LS1= Total load of SE= N2*47= LT1=N3*54=

b) LS 2: Toatal Load of Second Year Semester II: b) LT 2: Toatal Load as per structure=
LS2=Total load of SE=N2*54= [ 108 | LT2=N3*54=

a) LB 1: Toatal Load as per structure=
LB1=N4*(52+10)= [ 124 |

b) LB 2: Toatal Load as per structure=
LB2=N4*(40+30)= 140

L1(Mech )= Load of Mech Engg Dept: Sem | = LF1(Mech)+LS1+LT1+LB1 = 398

L2(Mech )= Load of Mech Engg Dept: Sem Il = LF2(Mech)+LS2+LT2+LB2 = 428

Load of Mech Engg Department = Max{ L1, L2}

Load of Mech Engg Department =

Work Load For Branch Instrumentation:

Work Load at Second Year For Branch Instru: (LS) Work Load at Third Year For Branch Instru: (LT)

Work Load at Final Year For Branch Instru: (LB)

a) LS 1: Toatal Load of Second Year Semester I: a) LT 1: Toatal Load as per structure=
LS1=Totalload of SE=N2*43= [0 | LT1=N3*48=

b) LS 2: Toatal Load of Second Year Semester II: b) LT 2: Toatal Load as per structure=
LS2=Total load of SE=N2*50= [ 0 | LT2=N3*48=

a) LB 1: Toatal Load as per structure=
LB1=N4*(52+10)=

b) LB 2: Toatal Load as per structure=
LB2=N4*(42+30)=

LF1 and LF2 for Instrumation is zero..

L1(Instru )= Load of Instrumentation Engg Dept: Sem | = LF1+LS1+LT1+LB1 = 0

L2(Instru )= Load of Instrumentation Engg Dept: Sem Il = LF2+LS2+LT2+LB2 = 0

Load of Instru Engg Department = Max{ L1, L2}

Load of Instru Engg Department =




Work Load For Branch Printing:

Work Load at Second Year For Branch Print: (LS)

Work Load at Third Year For Branch Print: (LT)

Work Load at Final Year For Branch Print: (LB)

a) LS 1: Toatal Load of Second Year Semester I:
LS1= Total load of SE= N2*39=
b) LS 2: Toatal Load of Second Year Semester II:

LS2= Total load of SE=N2*54=

a) LT 1: Toatal Load as per structure=
LT1=N3*48=
b) LT 2: Toatal Load as per structure=

a) LB 1: Toatal Load as per structure=
LB1=N4*(51+10)=
b) LB 2: Toatal Load as per structure=

L1(Print )= Load of Print Engg Dept: Sem | = LF1+LS1+LT1+LB1 =

L2(Print )= Load of Print Engg Dept: Sem Il = LF2+LS2+LT2+LB2 =

148 Load of Print Engg Department = Max{ L1, L2}

174 Load of Print Engg Department =

Work Load For Branch Polymer:

Work Load at Second Year For Branch Polymer: (LS)

Work Load at Third Year For Branch Polymer: (LT)

Work Load at Final Year For Branch Polymer: (LB)

a) LS 1: Toatal Load of Second Year Semester I:
LS1= Total load of SE= N2*54=

b) LS 2: Toatal Load of Second Year Semester II:
LS2= Total load of SE=N2*50=

a) LT 1: Toatal Load as per structure=
LT1=N3*54=

b) LT 2: Toatal Load as per structure=
LT2=N3*54=

a) LB 1: Toatal Load as per structure=
LB1=N4*(52+10)=

b) LB 2: Toatal Load as per structure=
LB2=N4*(48+30)=

L1(Polymer)= Load of Polymer Engg Dept: Sem | = LF1+LS1+LT1+LB1 =

L2(Polymer )= Load of Polymer Engg Dept: Sem Il = LF2+LS2+LT2+LB2 =

I
I

Load of Polymer Engg Department =

Load of Polymer Engg Department = Max{ L1, L2}

Work Load For Branch Petrolum:

Work Load at Second Year For Branch Petrolum: (LS)

Work Load at Third Year For Branch Petrolum: (LT)

Work Load at Final Year For Branch Petrolum: (LB)

a) LS 1: Toatal Load of Second Year Semester I:
LS1= Total load of SE= N2*54=

b) LS 2: Toatal Load of Second Year Semester II:
LS2= Total load of SE=N2*50=

a) LT 1: Toatal Load as per structure=
LT1=N3*51=

b) LT 2: Toatal Load as per structure=
LT2=N3*54=

a) LB 1: Toatal Load as per structure=
LB1=N4*(52+10)=

b) LB 2: Toatal Load as per structure=
LB2=N4*(48+30)=

L1(Petrolum)= Load of Petrolum Engg Dept: Sem | = LF1+LS1+LT1+LB1 =

L2(Petrolum )= Load of Petrolum Engg Dept: Sem Il = LF2+LS2+LT2+LB2 =

——
——

Load of Petrolum Engg Department =

Load of Petrolum Engg Department = Max{ L1, L2}




Work Load For Branch Petrochemical:

Work Load at Second Year For Branch Petrochem: (LS)

Work Load at Third Year For Branch Petrochem: (LT)

Work Load at Final Year For Branch Petrochem: (LB)

a) LS 1: Toatal Load of Second Year Semester I:
LS1= Total load of SE= N2*54=

b) LS 2: Toatal Load of Second Year Semester II:
LS2= Total load of SE=N2*50=

a) LT 1: Toatal Load as per structure=
LT1=N3*51=

b) LT 2: Toatal Load as per structure=
LT2=N3*54=

a) LB 1: Toatal Load as per structure=
LB1=N4*(52+10)=

b) LB 2: Toatal Load as per structure=
LB2=N4*(48+30)=

L1(Petrochem)= Load of Petrochem Engg Dept: Sem | = LF1+LS1+LT1+LB1 =

L2(Petrochem)= Load of Petrochem Engg Dept: Sem Il = LF2+LS2+LT2+LB2 =

——
——

Load of Petrochem Engg Department = Max{ L1, L2}

Load of Petrochem Engg Department =

Work Load For Branch Industrial:

Work Load at Second Year For Branch Industrial: (LS)

Work Load at Third Year For Branch Industrial: (LT)

Work Load at Final Year For Branch Industrial: (LB)

a) LS 1: Toatal Load of Second Year Semester I:
LS1= Total load of SE= N2*44=

b) LS 2: Toatal Load of Second Year Semester II:
LS2= Total load of SE=N2*50=

a) LT 1: Toatal Load as per structure=
LT1=N3*48=

b) LT 2: Toatal Load as per structure=
LT2=N3*48=

a) LB 1: Toatal Load as per structure=
LB1=N4*(52+10)=

b) LB 2: Toatal Load as per structure=
LB2=N4*(42+30)=

L1(Industrial )= Load of Industrial Engg Dept: Sem | = LF1+LS1+LT1+LB1 =

L2(Industrial )= Load of Industrial Engg Dept:: Sem Il = LF2+LS2+LT2+LB2 =

[ o |
[ o |

Load of Industrial Engg Department =

Load of Industrial Engg Department = Max{ L1, L2}

Work Load For Branch Production:

Work Load at Second Year For Branch Production: (LS)

Work Load at Third Year For Branch Production: (LT)

Work Load at Final Year For Branch Production: (LB)

a) LS 1: Toatal Load of Second Year Semester I:
LS1= Total load of SE= N2*44=

b) LS 2: Toatal Load of Second Year Semester II:
LS2= Total load of SE=N2*50=

a) LT 1: Toatal Load as per structure=
LT1=N3*48=

b) LT 2: Toatal Load as per structure=
LT2=N3*48=

a) LB 1: Toatal Load as per structure=
LB1=N4*(52+10)=

b) LB 2: Toatal Load as per structure=
LB2=N4*(48+30)=

L1(Production )= Load of Production Engg Dept: Sem | = LF1+LS1+LT1+LB1 =

L2(Production )= Load of Production Engg Dept:: Sem Il = LF2+LS2+LT2+LB2 =

[ o |
[ o |

Load of Production Engg Department = Max{ L1, L2}

Load of Production Engg Department =




Work Load For Branch Chemical:

Work Load at Second Year For Branch Chemical: (LS)

Work Load at Third Year For Branch Chemical: (LT)

Work Load at Final Year For Branch Chemical: (LB)

a) LS 1: Toatal Load of Second Year Semester I:
LS1= Total load of SE= N2*45=

b) LS 2: Toatal Load of Second Year Semester II:
LS2= Total load of SE=N2*50=

a) LT 1: Toatal Load as per structure=
LT1=N3*54=

b) LT 2: Toatal Load as per structure=
LT2=N3*54=

a) LB 1: Toatal Load as per structure=
LB1=N4*(51+10)=

b) LB 2: Toatal Load as per structure=
LB2=N4*(42+30)=

L1(Chemical )= Load of Chemical Engg Dept: Sem | = LF1+LS1+LT1+LB1 =

L2(Chemical )= Load of Chemical Engg Dept:: Sem Il = LF2+LS2+LT2+LB2 =

[ o |
[ o |

Load of Chemical Engg Department =

Load of Chemical Engg Department = Max{ L1, L2}

Work Load For Branch Biotechnology:

Work Load at Second Year For Branch Biotech: (LS)

Work Load at Third Year For Branch Biotech: (LT)

Work Load at Final Year For Branch Biotech: (LB)

a) LS 1: Toatal Load of Second Year Semester I:
LS1= Total load of SE= N2*43=

b) LS 2: Toatal Load of Second Year Semester II:
LS2= Total load of SE=N2*52=

a) LT 1: Toatal Load as per structure=
LT1=N3*50=

b) LT 2: Toatal Load as per structure=
LT2=N3*54=

a) LB 1: Toatal Load as per structure=
LB1=N4*(49+10)=

b) LB 2: Toatal Load as per structure=
LB2=N4*(38+30)=

L1(Biotech )= Load of Biotech Engg Dept: Sem | = LF1+LS1+LT1+LB1 =

L2(Biotech )= Load of Biotech Engg Dept:: Sem Il = LF2+LS2+LT2+LB2 =

I
I

Load of Biotech Engg Department =

Load of Biotech Engg Department = Max{ L1, L2}

Work Load For Branch Automobile:

Work Load at Second Year For Branch Automobile: (LS)

Work Load at Third Year For Branch Automobile: (LT)

Work Load at Final Year For Branch Automob: (LB)

a) LS 1: Toatal Load of Second Year Semester I:
LS1= Total load of SE= N2*47=

b) LS 2: Toatal Load of Second Year Semester II:
LS2= Total load of SE=N2*54=

a) LT 1: Toatal Load as per structure=
LT1=N3*54=

b) LT 2: Toatal Load as per structure=
LT2=N3*54=

a) LB 1: Toatal Load as per structure=
LB1=N4*(52+10)=

b) LB 2: Toatal Load as per structure=
LB2=N4*(42+30)=

L1(Automobile )= Load of Automob Engg Dept: Sem | = LF1+LS1+LT1+LB1 =

L2(Automobile )= Load of Automob Engg Dept:: Sem Il = LF2+LS2+LT2+LB2 =

[ o |
[ o |

Load of Automobile Engg Department = Max{ L1, L2}

Load of Automobile Engg Department =




LI 1= Load of institute of First Semester= Sum of load of first semester of all branches + load of Chemistry + load of Physics + load of Mathematics
1734

LI 2= Load of institute of Second Semester= Sum of load of secondt semester of all branches + load of Chemistry + load of Physics + load of Mathematics
1795

N= Total Number of divisions= N1 + sum of N2 of all branshes + sum of N3 of all branches + sum of N4 of all branches

32
F= faculty required= Max { LI1/14, LI2/14, N*4}
Cadre ratio:
1) Professors=P=F/9 14.25
2) Associated Professor= P *2 28.49
3) Assistant Professor = P*6 85.48

lll)Load Calculation of PG (First shift)

Electronics Information Mechanical
Electircal (No. | Computer (No.| Civil (No. of Technology
(No. of (No. of TOTAL
of Students ) | of Students) Students ) (No. of
Students ) Students )
Students )
F.E 0 25 0 0 0 25
S.E 0 25 0 0 0 25
No. Of
Faculty 0 4.166666667 1] 0 0 0
required

e) Cadre Ratio:

Total Faculty for PG:(TFPG1)

TFPG1=Faculty of Computer + Faculty of Civil + Faculty of E&TC + Faculty of Mechanical +

TFPG1=

[ No. Of Professors (P) = TFPG/4 [ 1.0417]

| No. of Associate Professor(AP) =(TFPG/4) | 1.0417|

| No. of Assistant Professor(ASP) =(TFPG/4)*2 | 2.0833|




